/L
(N —— )
H
L ME  ATULR (SUS304, XM7)
XENE : L
K £ : A2—70
5 LEX \ e

i j;({f Z“/;ﬁ; K B C i j;f Z‘V;"% K B C
B23-0810 M8X10 1.25 5.5 13 15.0 B23-1015 | M10X15 1.5 7.0 17 19.6
B23-0812 M8X12 1.25 5.5 13 15.0 B23-1016 | M10X16 1.5 7.0 17 19.6
B23-0815 M8X15 1.25 5.5 13 15.0 B23-1018 | M10X18 1.5 7.0 17 19.6
B23-0816 M8X16 1.25 5.5 13 15.0 B23-1020 | M10X20 1.5 7.0 17 19.6
B23-0818 M8X18 1.25 5.5 13 15.0 B23-1025 | M10X25 1.5 7.0 17 19.6
B23-0820 M8X20 1.25 5.5 13 15.0 B23-1030 | M10X30 1.5 7.0 17 19.6
B23-0825 M8X25 1.25 5.5 13 15.0 B23-1035 | M10X35 1.5 7.0 17 19.6
B23-0830 M8X30 1.25 5.5 13 15.0 B23-1220 | M12X20 1.75 8.0 19 21.9
B23-0835 M8X35 1.25 5.5 13 15.0 B23-1225 | M12X25 1.75 8.0 19 21.9
B23-0840 M8X40 1.25 5.5 13 15.0 B23-1230 | M12X30 1.75 8.0 19 21.9
B23-0845 M8X45 1.25 5.5 13 15.0 B23-1235 | M12X35 1.75 8.0 19 21.9
B23-0850 M8X50 1.25 5.5 13 15.0

7 — B [=] [=]
T T TRusco FSAADREESHR |*F x5 L2xmkLr |®F B23-0000




